07107 B HHIZL  Foiesl  #umigy B &

7= miiEA

M
BERFARMN , BESREL N 10.9
HhAMRBR

g
Z @Rk,
TERZFELAE | =,

B
NFLZEMAFEREFFTHRER , JLULH B & | HEllwf¥E
KA LA BENZIE 9° WRE

B AR AT RE TR R IR R IR,

5 o - @

‘ ¥ 5\/5

SwW

L2

07107-20406 B M4x0,5 1,3 5,6 2,5 2 3,5
07107-20410 B M4x0,5 1,3 9,6 2,5 2 3,5
07107-20508 B M5x0,5 2,2 7,5 3 2,5 4,5
07107-20512 B M5x0,5 2,2 11,5 3 2,5 4,5
07107-20610 B M6x0,5 3,2 10 4 3 9
07107-20612 B M6x0,5 3,2 12 4 3 9
07107-20616 B M6x0,5 3,2 16 4 3 9
07107-20620 B M6x0,5 3,2 20 4 3 9
07107-20625 B M6x0,5 3,2 25 4 3 9
07107-20810 B M8x1 4.1 10,3 5,5 4 10
07107-20820 B M8x1 4.1 20,3 5,5 4 15
07107-21012 B M10x1 5,6 12,3 7 5 20
07107-21025 B M10x1 5,6 25,3 7 5 20
07107-21216 B M12x1,5 7 16,2 8,5 6 30
07107-21230 B M12x1,5 7 30,2 8,5 6 30
07107-21620 B M16x1,5 10,7 20 12 8 60

© norelem www.norelem.com



07107_B & Eki%

2

, ToiEk , WHHERE , B B

07107-21635
07107-22030

M16x1,5
B M20x1,5

10,7
13,5

30

10

AEEED
max. kN
(BEREH)

90

07107-22040

B M20x1,5

13,5

40

10

90

© norelem www.norelem.com



